REEROMELOKR (RIGFERMEELE(1000m L) 1) (BI#E3-2)

#5|  2rs BMES s oy |msen| B2 AP mmas LUK 54 1B LR %
1| REREE— BRESNS | o) —biE | 2 S61.3.1| 1,728 TR FME |BREZEREHEREELEE
2| BEREZ BRESS | o) —biE | 2 H18.1.1| 1,472 R PR (BEZEREHRELELEE
3| EME= BREES | o) —biE | 3 | H1311.1| 1,485 R PFME (BEZEREHRELELEE
4|RRE M BRESE SEEfth 2 H10.3.1| 1,263 TR FME |BREZEREHEREELEE
5| ¥R AL EBREES B &M 2 S51.1.1| 1,151 H22 BEEE (BADSE A |BEZEREIHRBELEE |((HEFR)
6| ENEES BEE 2 S58.3.1| 1,405 R PME (BEZEREHRLELEE
7| R BNERS | SKFHaVI)—RE | 2 $59.3.1| 1,898 H13 | FMIEE#%E FiE | BHEZERERRAETLEE
8| kA EBNERS | SKFHaV Y-k E | 2 S63.3.1| 1,405 TR FME |BEZEREHEREELEE
9| kA EBWESS | Iy —bE | 2 H1.2.1| 1,227 TR PFME (BEZEREHRLELEE
10|41 0E EBEREES B E M 1 H7.3.1| 1,263 it B FiE | BHEZERERRBAETEE
1| EEERE EBEREES BEEt 1 S42.3.1| 1,356| H21 IBMEEE (BADSE A |BEZEREIHRBELEE |((HEFR)
12| T % ENEES BEE 1 H17.5.1 1,263 TR PR (BEZEREHRLELEE
13| BRI % EBEREES BEEt 2 S50.3.1| 1,306 H10 BMEEE (BADSE A |BEZEREIHRBELEE |((HEFR)
14| BERN ERE S thEE 1 S53.3.1| 1,159| HO9 | [AMERE%E REOFE_R.ZRDH A  |BEZESEERBELEE |(HEH)
15| 8% EBEREES BEEt 1 H142.1| 1263 it B FiE | BHEZERERRAAETEE
16| F48 ENEES & 1 H13.2.1| 1,263 TR PR (BEZEREHRLELEE
17|ER" EBEREES HEEM 2 S49.3.1| 1,139 HO5 IBMEEE (BADSE A |BEZEREIHRBELEE |((HEFR)
18| EiRMRE ENEES BEE 1 H10.3.1| 1,263 R FME (BEZEREHRLELEE
19765 4L EBEREES B E M 2 S52.1.1] 1,389 H20 BEEE (BARDSE A |BEZEREIHRBELEE |((HEFR)
20|TE&F EBEREES B E M 2 H3.3.1| 1,266 i RS FE (BEZESEHERBELEE
21| EFE ERE S BEE 1 S50.3.1| 1,185| H22 | AMER#% |(BADSHE A |BEZESEHEEBELEE |@UER)
2(fEER%E EREE hEE 1 | s44121| 1,335 H22 | IHWER%E |BADSHE A |BEZESEHEREBELEE |@UER)
23| K8 ENEES & 1 S46.1.1| 1,267| HO5 | [AMER#% |(BADSHE A  |BEZESSERBELEE |(SHEH)
24| 2iRFAA EBRESE BEEt 2 S432.1| 1,595| H21 BEREE |BADSE A |BEZESEHEEBELEE |@UER)
25(dt LR EBEREES BEEt 2 $56.3.1| 1,111 H22 BMEEE (BADSE A |BEZEREIHRBELEE |((HEFR)
26| RRRIT%E ERE S BEE 1 S55.3.1| 1,185 BEE%E (BEAODSE A  |BEZESSERBELEE |(SHEH)
27[7KiR ENEES BEEt 1 S4221| 1,600| HO9 | EMER#% |(EADSHE A |BEZESEHEEBELEE |@UER)
28[/KRE%E ENEES BEE 1 H14.3.1| 1,263 TR PR (BEZEREHRLELEE
29|/KiRmE%E EBEREES BEEt 1 S41.6.1] 1,025 H20 BMEEE (BADSE A |BEZEREHRBELEE |((HEFR)
30| #iiR EBEREES B E M 2 S54.3.1| 1,256 BMEEE (BADSE A |BEZEREIHRBELEE |((HEFR)




REEROMELOKR (RIGFERMEELE(1000m L) 1) (BI#E3-2)

2|  2r4a BMR S s oy |msen| B2 AP mmas SRR Su BUME s =
31| &4 IE BREES HEE M 1 H8.3.1| 1,263 it FE | BEREREXRABELEE

RVAR=E BREES B E 1 H23.3.1| 1,263 it R FE | BERERERABELTEE

33| —BE— BREES B E 2 H19.3.1| 2,372 it R FE | BERERERABELTEE

34| —BEE= BRER)S HEEM 1 H8.10.1[ 1,327 iR FE | BERERERABELTEE

35|TER EREES BREEM 2 S51.6.1| 1,168| HO8 [T ERE |BADSE A |BEZESETHEREELEE

36| KX EREES S Eh 2 | s41.12.1 1,261 H21 BT ERE |BADSE A |BEZESEHERBELEE |(ZEF)
37| FE BREES S Eh 1 H15.2.1| 1,263 i ERE FE | BEZEREHABELEE |[(HEH)
38|EH EREES HEEM 1 H26.2.1| 1,263 i ERE FME |BEZEREHREELEE

39|=H BREES | $kiFar o —kE | 2 | H27.319 1472 iR iR | BEEEREHREELEE

40| KiniE BRNEES | #faro)—hE | 3 H19.3.1| 1,813 i ERE FE |BMEZESEHREELEE

41| KMIER BREES B E 1 H7.3.1| 1,281 it =LA FE (BERESEHEREBELEE

42({xHE EREES HEEM 2 S45.1.1| 1,087 BT ERE |BADSE A |BEZESETHERBELEE |(ZEF)
43|1£R BREES SBE 1 H11.3.1| 1,263 it R FE | BERERERABELTEE
AU|ERBET EREES S 2 | s47.11.1| 1,164 HO7 B ERE |BADSE A |BEZESETHERBELEE |(ZEF)
45525 EREES S Eh 1 H19.2.1| 1,263 i EREE FE |BEZEREHREELEE

46 = B fRIE EREES HEEM 1 H8.3.1| 1,280 i EREE FE | BEREREERYELEE

47| KKE EREES S Eh 1 S56.3.1| 1,086| H13 BT ERE |BADSE A |BEZESETHERBELEE |(ZEF)
48(1LM EREES HEEM 2 S58.3.1| 1,360| H13 HmERSE HME [BEEELEREEELEE

9|EH BRERS HEEM 2 S50.6.1| 1,361 H23 HMEEE |BADSE A |BEZESEHERLZELEE | EER)
50| B &t EREES HEEM 1 S55.3.1| 1,068| HO9 IHMEEE |EHRDSE A |BEZESETHEREELEE |(MEEHY)
51 E0EI(EE) |(BREES HEEM 2 $39.3.1| 1,089| H21 HMEEE |BADSE A |BEZESEHRLZELEE | EER)
52| = IKE EREES S E 1 H8.11.1| 1,263 it E R FME | BREZEREHREELEE

53| AR EREES S Eh 2 S41.3.1| 1,158| H21 BT ERE |BADSE A |BEZESETERBELEE |(FEF)
54| A% EREES S Eh 2 S41.3.1| 1,059| H22 [BETERE |BADSE A |BEZESETHERBELEE |(FEF)
55| AFEE BREES B E 2 H15.8.1| 1,263 it R FE | BERERERABELEE

56| AT % BRER)S B E 1 $55.3.1| 1,069 HMEEE |BADSE A  |BEZELEHEBELEE |(WEESHY)
57|%&m EREES HEEM 2 S43.3.1| 1,065 BT ERE |BADSE A |BEZESETHERBELEE |(FEF)
58| K& EREES S Eh 1 | S46.10.1| 1,104| HO3 B ERE |BADOSE A |BEZESETHERBELEE |(ZEF)
59| &2k BRERS HEEM 2 S452.1| 1,142| H22 HMEEE |BADSE A |BEZESEHERLZELEE |EER)
60[R{REA BREES B E 2 S453.1| 1,192 H22 HMEEE |BADSE A  |BEZREREHAEBELEE |((HEHR
61|4& R BREES SEE 1 H13.2.1| 1,533 iR FE | BERERERABELTEE




REEROMELOKR (RIGFERMEELE(1000m L) 1)

(RI#K3-2)
2|  eks BMR S s oy |msen| B2 AP mmas SRR Su BUME s =
62|fRM T % BEWNEES HEEM 1 H11.3.1| 1,285 e HE BEEELEREHRELEE
63|—F EREES S Eh 2 | s45.10.1| 1,599 H21 B ERE |BADOSE A |BEZESETHERBELEE |(ZEF)




